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10.

represents the solutions of x < 2.
The solutions of both include all values
less than 2. The solutions of x < 2 do not
include 2, but 2 is a solution of x < 2
Rubric

1 point for each graph; 1 point for
similarity; 1 point for difference

Keith wrote the correct inequality, but he
did not graph the solutions correctly.
Numbers less than 4 are to the left of

4 on the number line, not to the right.
Rubric

1 point for identifying mistake; 2 points for
explanation

a n<20

a. 1 point

b. 1 point

c. 1 point for answer; 1 point
for explanation

a 5231

b. Liam wants to save as much as or
more than $31

c. No, every solution does not represent
arealistic amount. The amounts will
get too large to be realistic amounts of
money for Liam to save. Also, Liam
cannot save anything smaller than a
penny, so the graph will not be a
solid line:

Rubric

a. 1 point

b. 1 point

c. 1 point for answer; 2 points
for explanation
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6.EE.8

SELECTED RESPONSE Select all correct answers.
Select the correct answer.

1. What inequality has the solutions
graphed on the number line?

54321012345

@R x<3
® x<3
©x>3
@ xz3
2. All of the students in a class are older

than 10 years. What inequality represents
the ages a of the students?

@®a<10
®az10
©a>10
@®az10
3. Dianne is 5 feet and 6 inches tall. Manuel
s taller than Dianne. What inequality

represents Manuel’s height h in feet?
Recall that there are 12 inches in a foot.

@® <56
® n-56
©n<55
@ h>-55

5. Which inequalities share some solutions
with x> 32
@ x>3
®x<0
©xs<3
®xz5
® x<3
CONSTRUCTED RESPONSE

6. Jenna eats dinner at a restaurant. Her bill
s $14.50. Jenna pays her bill and leaves.
atip. Write an inequality to represent the
total cost of Jenna's dinner.

-

7. Describe the values graphed on the
number line in words. The number line
represents the solutions of what
inequality? How many solutions does this
inequality have?

420 246810121416
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4. Jay jogs dally for exercise. He jogs faster | g Gra5n tne solutions of x <2 and x< 2 on

than 3.5 miles per hour every day. Which the number lines. How are the solutions.
'"e“““"'squpfese"‘s Jay's jogging of the inequalities similar? How are
speeds they different?

®s<35

® 5235 A >
©s>35

@ s235 e
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9. Keith wrote the inequality x < 4 to
represent the statement “a number x is.
less than 4.” He graphed the solutions of
the inequality on the number line shown.
Did Keith write the inequality and graph
the solutions correctly? Explain.

0123456785

1. Savannah's daily commute from home to
work is more than 35 miles each way.
a. Wite an inequaliy that represents
this situation

b. Graph the solutions of the inequality
from parta.

R

c. If Savannah travels 35 miles from
home, is it possible she is at
work? Explain.

10. a. The value of nis less than 20. Write
the inequality that represents the
value of n and graph the solutions on
the number line.

D S S S e e o S Y

b. The value of m is greater than 5.
Write the inequality that represents
the value of m and graph the
solutions on the number line.

D

12. The graph on the number line shows the
different amounts of money in dollars that
Liam saves weeKly

CHO OSSO0
30 32 34 36 36 40 42 44 46 48 50

a. Liam wants to save as much as or
more than he did the week during
which he saved the least. Write an
inequality that represents this
situation

b. Describe the solutions of the
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¢. Describe the solutions graphed in
parts a and b. Find any common
solutions to both inequalities.

inequality from part a in terms of the.
situation

Does every solution of the
inequality represent a realistic
amount? Explain
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1
2
3
4
5
6.

~

D
c
D
c

ACD

¢ >14.5, where cis the total cost
Rubric

2 points

The values graphed on the number line
are all numbers less than 11

These values are the solutions of x < 11
The inequality has infinitely

many solutions

Rubric
1 point for description; 1 point for
inequality; 1 point for infinitely many

54-3-2-101 2345

represents the solutions of x < 2

Gttt ————

54-3-2-10123 4 5

b

o

m>5

345678 910111213

The solutions of n <20 are all
numbers less than 20, and the
solutions to m > 5 are all numbers
greater than 5. The common solutions
of the inequalities are all numbers
between, but not equal to, 5 and 20.

Rubric

a
b.
c

o

1 point for inequality; 1 point for graph
1 point for inequality; 1 point for graph
1 point for descriptjon; 1 point for
common values

The inequality d > 35, where d is the
number of miles Savannah commutes
to work, represents the situation

20 22 24 26 28 30 32 34 36 38 40

No, because 35 is not a solution of
d>35

Rubric




